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AM PM AM PM AM PM AM PM AM PM AM PM
1| K 1| K 1 R7—ZFBEYYH—45T 1 | K 1 | & 1 | B
2 | 7k 2 | & 2 | B 2 | 7k 2 | + R7—REBYYH—I5T 2 | Kk
3 |k 3 | EA=Za—vz—7 3 |k 3 | K 3 | B EA=Za—vz—7 3 |k
4 | & 4 | B EA=Za—z—7 4 | 5k 4 | & 4 | B 4 | K
5 | £ EARZ1—v1—7 5 | B R7—ZFEYYH—495T 5 | K 5 | £+ R7—ZFBEYYH—495T 5 | K 5 | &
6 | B R7—ZFBEYYH—95T 6 | X R7—ZEBYYH—I5T 6 | & 6 | B EAZa—y1—7 6 | 7k 6 | - R7—ZEBYYH—I5T
7 | A 7 |7k 7 | x THESE RESFDOY 7| A 7 | K 7 | B R7—REAYYH—95T
8 | ik 8 |k 8 | B EAZa—y1—7 8 | &k 8 | & 8 | B
9 | /K 9 | & 9 | A 9 | K 9 | + ERXZa—Dz—7 9 | K
10 | K 10 | £ R7—ZFBEYYH—95T 10 | & 10 | K 10 | H R7—ZXFEYYH—95T 10 | 7k
1 | & 11 | B EAZa1—y1—7 11 | &k 1| & 1| A FREAT B 11 | K
12 | + R7—ZFEYYH—95T 12 | B 12 | K 12 | EAZa—yr—7 12 | X FREAFT B 12 | &
13 | H EAZa—v1—7 13 | K 13 | & 13 | B R7—AFBYYH—o57 13 | 7k FHREAF B 13 | £ R7—AFBYYH—057
14 | A 14 | k& 14 | + R7—ZFBEYYH—45T 14 | A 14 | K FREAFT B 14 | B EAZa—v1—7
15 | K 15 | & 15 | H R7—RAEAYYH—95T 15 | K 15 | & FREATH 15 | B SEET =
16 | 7k 16 | & 16 | B 16 | 7k 16 | R7—ZFEYYH—95T 16 | K
17 | K 17 | £ EAZ1—v1—7 17 | K 17 | & 17 | B EAZa—v1—7 17 | 7k
18 | & 18 | B R7—ZFEYYH—95T 18 | 7 18 | & 18 | A 18 | K
19 | £ EARzZa—v1—7 19 | B 19 | K 19 | £ R7—ZXFBEYYH—05T 19 | & 19 | &
20 | H R7—ZFEEYYH—95T 20 | X 20 | & 20 | A EA=Za—vz—7 20 | 7k 20 | + EAZ1—v1—7
21 | B 21 | %k 21 | + R7—ZEBYYH—I5T 21 | B SlBET = 21 | K 21 | B R7—ZEBYYH—I5T
22 | K 22 | & 22 | B | EEEAFAT | BEAZa—vz—T7 | 22 | K 22 | & 22 | B
23 | 7k 23 | & 23 | B 23 | 7k 23 | + EAZ1—v1—7 23 | K SEET =
24 | K 24 | + R7—ZFEYYH—495T 24 | X 24 | A& 24 | B R7—ZFEEYYH—95T 24 | 7k
25 | & 25 | B EA=Za—z—7 25 | 7k 25 | & 25 | B 25 | K
26 | R7—ZFEEYYH—95T 26 | B 26 | A& 26 | + R7—ZFBEYYH—95T 26 | X 26 | &
27 | B Ekza—r—7 27 | &k 27 | & 27 | B RP—XEESyH—H5T 27 | 7% 27 |+ | Bz N SEYY
28 | A 28 | 7k 28 | = BEARZa—z—7 28 | A 28 | K 28 | B | BREFXFERE | EAZa—vz—7
29 | K R7—ZFBEYYH—95T 29 29 | H R7—ZFEYYH—95T 29 | X 29 | & 29 | B
30 | /K 30 | & 30 | B 30 | 7k 30 | £ R7—XFEYYH—I5T 30 | X

31 | £ EXZa—7z—7 31 | K 31 | H EXZa—7z—7
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AM PM AM PM AM PM AM PM AM PM AM PM
1 | K 1| BEARZa—vz—7 1| A 1T | K F X F ” 1 NEETS 1 BEAZa—vz—7
2 | K 2 | B R7—XFEYYH—957 2 | K 2 | & F R F & 2 | A 2 | A
3 | & 3 | A SEET = 3 |k 3 | £ F K F 7 3 | K 3 | X
4 | + EAZa—y1—7 4 | 1K 4 | K 4 | H R7—AFBYYh—o57 4 |7k 4 | K
5 | B R7—ZAFEBYYH—95T 5 |k b | & 5 | A b | K 5 | K
6 | A 6 | K 6 | £ R7—=XFHBYYHh—07T 6 | X 6 | & 6 | &
7 | K 7 | & 7 |8 R7—RFBRYYh—-57 7 | Kk 7| x R7—RAFBRYYH—-5T 7 | R7—AFBRYYH—-5T
8 | Kk 8 | £ TESHEH -PTAZDY 8 | A 8 | K 8 | B R7—AXFEYYI—95T 8 | H RY—AXFEYSYI—95T
9 | K 9 | H BRZa—7z—7 9 | Kk 9 | & 9 | A 9 | A
10 | € 10 | A 10 | /K 10 | & BER=Za—7z—7 10 | X 10 | &
1| x EH =% (E 11| X 11| K 11| A8 Ry —ZAFBYvHh—957 11| 5K Ry —ZAFBYvH—957 11| K
12 | H EBRIEE 12 | K 12 | & 12 | A HEET = 12 | K 12 | K
13| H EB AR 13| &K 13| £ ERZa—"9z—7 13 | X 13| € 13| &
14 | K 14 | & 14| B BERZa—0z—7 14 | 7K 14 | R7—RFBYYH—057 14 | £ R7—RFBYYH—o757
15 | Kk 15 | £ BERZa—ox—7 15| A 15 | K 15| H BERZa—7z—7 15| H ERAZa—ox—7
16 | K 16 | H R7—RXFBYYH—o7T 16 | X 16 | & 16 | A 16 | A
17 | & 17| A 17 | K 17| £ R7—ZXFBYYH—I5T 17 | X 17 | K
18 | & EBRIEE 18 | X 18 | K 18| H ERZa—vx—7 18 | 7k 18 | K
19 | H EB RIS 19 | K 19 | & 19| R 19 | K 19 | K
20 | A 20 | K 20 | £ R7—RXFBRYYH—-5T 20 | K 20 | & 20 | & R7—AFBRYYH—-5T
21 | K 21 | & 21 | H BEARZa—0x—7 21 | 7k 21 | £ BER=Za—oz—7 21 | ER=Za—rz—7
22 | K 22 | R7—REBEYYH—95T 22 | B 22 | K 22 | H R7—REBEYYH—95T 22 | H R7—AFBEYYH—95T
23 | K 23 | H BEARZa—0x—7 23 | X 23 | & 23 | A ER=Za—vz—7 23 | A
24 | & 24 | B HNEET = 24 | 7k 24 | + R7—RFEBEYYHA—H5T 24 | X 24 | K
25 | £ EER 25 | K 25 | K 25 | H R7—XFHEYYHh—077 25 | K 25 | K
26 | H EE=FmH 26 | 7K 26 | & 26 | A 26 26 | K
27 | A 27 | K 27 | £ 27 | K 27 | & 27 | €
28 | K 28 | & 28 | B FREATA(FE) 28 | K 28 | = EAZa—vz—7 28 | + R7—AXFEYYI—95T
29 | %k 29 | R7—RXFEYYI—95T 29 | A F X F A 29 29 | H EARZa—y1—7
30 30 | B Ry —ZAFBYvH—957 30 | Kk F X F A 30 | & 30 | B
31| & 31 |k F KR F 1A 31 | R7—XFBRYvHh—H57 31 | X




